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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o FTT T FT T F G F 5 F-99 7 GRa 7€ 8 T 757 13 &

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 13 guestions.
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Fe7-g 7 I & ST 77 7 @e TR T G B GH FACYH % GG 97 @)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYAT I H TV G @ HCT § GBI T FHE AT @

Before beginning to answer a question, its Serial Number must be written.
FACYaHT & &7 § @rdl g~/ 95 7 8ig/

Don’t leave blank page/pages in your answer-book.

F-JaH & GifiRTT Fis o she 78 o o SaRaEagar 8 i@ G fer Fae
FIe

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

THETER 7Y T o FST-UF T S/asT [A@

Candidates must write their Roll Number on the question paper.

FTFT FE B AT &7 @ g7 98 GARTT T @ & 59997 {9 T 75 8, GOH & T 59
g 7 B 1 e @i T@ R s

Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

GE e :

General Instruction :

(i) o T a3

All questions are compulsory.
(i) 57 797-97 & o7 T @ve & o [ su7 w@re aie 74 E

This question paper consists of three Sections which are divided as :
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G FTEE A G5 T FT S IT B, GEw J97 2 6 F B

Section A : This Section consists of 5 questions from 1 to 5, each of

2 marks.
@8 :3GEE 6 §10 7% F7 5 57 2 FOF J97 3 67F @ &

Section B : This Section consists of 5 questions from 6 to 10, each of

3 marks.
§€ § .56 @< 711 @ 13 % Zo7 3 557 8, 4% F97 5 &F I 5/

Section C : This Section consists of 3 questions from 11 to 13, each of
S marks.

(i) @& § & qH g9 7 AF Awey (7 7 31 g7 G daa @ F9T & g 2

There are internal choices are given in all questions of Section C. But you

have to opt only one of them.

s - & [M.M.:10
SECTION-A
1. A [ iy 2

5c08? 60° + 4sec? 30° —tan” 45°
sin? 30° +cos? 30°

Evaluate :

5c0s2 60° + 4sec?30° —tanZ 45°
sin? 30° +cos? 30°
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2. W B AR U F 0P qEE F S oo d TR @ 3, et e 48 i, 36 #
uqd 28 H ¥ TR AT S BT 2

An underground water tank is in the form of a cuboid of edges 48 m, 36 m and

28 m. Find the volume of the tank.

3. UF I F 3 o oI 5 Ft o F o3 A H ¥ um e AgmA M o R g
yifesaT @ & % AT (i) @ 2, (i) " A2 A7 2

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from
the bag. What is the probability that the ball drawn is (i) red (ii) not red ?

4. U @ @ wa Fw, BEE d 27 8 ot e 182 & 2

Find two positive numbers whose sum is 27 and product is 182.

5. farg A & fdenies s HI/M 81 AB UF g &1 AW @, Prwsr &= (2, 3) 2 IMB
foaris (1, 4) 21 2

Find the co-ordinates of a point A where AB is the diameter of a circle whose

centre is (2, —3) and co-ordinates of B is (1, 4).
g - [M.M:15

SECTION-B

6. TF Ul fhel dax W 39 wR et & & 6 que femen R dew § 2.5 dew 1 @
U B RN 3 HU0 O g & 6 Hier  HaE UX & % faswl ab gad 81 Ol @
SRR E LY 3

A ladder is placed against a wall such that its foot is at a distance of 2.5m

from the wall and its top reaches a window 6m above the ground. Find the
length of the ladder.
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7. S o o # fRamr @ B, switha &9 &1 S9%d R $ig JEl @ ABCD 3 Tu®
ol 14 GH R 3

D &

Find the area of the shaded region as shown in figure where ABCD is a square

of side 14 cm.

8. = 9ol &1 Afea s g 3
Tt 1.9 q =18 =3 T2 1619
qrar 6 30 40 16 4 4

Find the median of the following data :

Class-interval

1 @4

C

7 —10

10-13

13- 16

16-19 |

Frequency

6

30

40

16
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9. IR fpel BT & i R BT Q91 § 2 S Rar 9w, @ 98 % & o ¥ AR siy ok

ﬂﬁﬁﬁasﬁsﬁmm,ﬁraﬁ%ﬁaﬁﬁ%uaﬁﬁmﬁmaﬁml 3

A fraction becomes 121 , if 2 is added to both the numerator and the

denominator. If 3 is added to both the numerator and the denominator, it

becomes —2 Find the fraction.

10. T A. P. 1 3191 Y% Sa @] frge 1197 9§ 38 3 3 1641 98 73 B 3

Find the 31st term of an A. P. whose 1 1th term is 38 and 16th term is 73.

gE -9 [M. M. :15

SECTION-C

11. o9 af g T @ g A # g H &9 T o &9 ¥ awEg I B g A F g
CARAI G e (B R e R T o e e e 5

Five years ago, Nuri was thrice as old as Sonu. Ten years later, Nuri will be

twice as old as Sonu. How old are Nuri and Sonu ?

OR
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fr=T F¥iERelt & W &1 e THE & g # Saast Bd i

2 S0 et o
=1y —&

x—1 y~2=

Solve the following pair of equations by reducing them to a pair of linear

equations :

5+ . =2and-i+3 =
x—-1 y-2 x—1  y-=2

12. 5 & Bowr @ @ g0 W O & Wi dEn difan st "R 60°F Ho W fewd & qen
A F W e 5

Draw a pair of tangents to a circle of radius 5 em which are inclined to each
other at an angle of 60° and write steps of construction.

e

OR
FF 0@ g0 W e fag 7§ & wl @l 7P 7 TQ W W ¥ fm At 6
|PTQ =2 |OPQ B

Two tangents TP and TQ are drawn to a circle with centre O from an external

point T. Prove that |PTQ =2 |OPQ.

13. % gadd 999 WX @1 991 $1 8@ 99 fEfg & 40 dier afvs @i @ o R sefs
g4 F IO 60° | TEHT 30° B AW Bl HAR P HUE T HQ 5

The shadow of a tower standing on a level ground is found to be 40 m longer

when the Sun's altitude is 30° than when it is 60°. Find the height of the

tower.
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e

OR
g% 3 @ fag 8, ot AR % we-RTg § 30 #ieY @ ¢t W 8, dr & Brex & gwEd
BV 30° B HWRK B HAE TG BN

The angle of elevation of the top of a tower from a point on the ground, which

is 30 m away from the foot of the tower, is 30" . Find the height of the tower.
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